
num = [0 1 ‐2];
den = [1 ‐0.8 ‐0.64 0.512];

zplane(num,den);

[r,p,k] = residuez(num,den);
r = [2.0313    ‐0.9375    ‐1.0938]              
p = [0.8000    0.8000     ‐0.8000]
k = []
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n = [0:40];
h = 2.0313*(0.8).^n ‐ 1.172*(n+1).*(0.8.^(n+1))‐1.0938*(‐0.8).^n;
stem(n,h);
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num = [0   0.353    0];
den = [1  ‐1.407  0.745   ‐0.175];

zplane(num,den)
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[r,p,k] = residuez(num,den);

r =

   1         
  ‐0.5
  ‐0.5

p =

   0.7          
   0.353 + 0.353i
   0.353 ‐ 0.353i

k = []
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n = [0:15];
h = (0.7).^ n ‐ (0.5).^n.*cos(pi*n/4);
stem(n,h);
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[h,w]=freqz(num,den,1001);
plot(w,abs(h))
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fvtool(num,den)
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Screen clipping taken: 3/6/2011, 7:50 PM
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Example 
Frequency response of a nulling filter
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